RIRBEHE

#Z (TYPE) :WFU

BALL NUT

bR EEFYRAT 2% (Stock Rollde Ball Screw Series)

@A
ow
Q
\
@Dg6
|
oD
@d

[0

0 7l 1 ;
W (0il Hole)

(01 Hole)

A7 (Unit) @ mm

I1:' %% Lead Da:¥ff£ Ball Dia. n:EkRE% Number of Circuits
Ca:shEiE fifaf Basic Dunamic Rating Load (Kgf)
Coa: §f4E fifif Basic Static

Rating Load (Kgf)

pilR=s RIRZHT, MBEEERIE Dimensions

Mode | No. d I Da D A |B|M|L W X H Q n| Ca Coa
WFU0802-3 75 2 |1.588| 16| 31 | 8 [10] 25 | 23 | 3.4| 25 | M4X0.7 [ 3| 210 265
WFU0802. 5-3 2.511.588 | 16 | 31 8 |10 25 | 23 | 3.4| 35 | M4X0.7 | 3| 220 280
WFU1202-3 11.5 2 1.588 | 20 | 42 | 8 |10| 30 | 32 |4.5| 35 | M4X0.7 | 3| 330 380
WFU1204-3 4 2 22 | 42 | 8 |10| 35 | 32 |4.5| 35 | M4X0.7 | 3| 350 400
WFU1205-3 11.4| 5 2 22 | 42 | 8 |10| 35 | 32 |4.5| 35 | M4X0.7 | 3| 380 580
WFU1210-2 10 2 22 | 42 | 8 | 10| 30 | 32 |4.5| 35| M4X0.7 | 2| 250 360
WFU1604-3 15.3] 4 |2.381 )| 28| 50 |10| 12| 38 | 38 | 5.5| 39 M6X1 | 3| 435 920
WFU1605-3 5 3 28 | 50 | 10| 12| 42 | 38 | 5.5| 39 M6X1 3| 765 1320
WFU1610-3 15 10 3 30 | 50 |10 12| 45 | 38 | 5.5| 39 M6X1 3| 960 1230
WFU1616-2 16 3 30 | 50 |10 12| 32 | 38 |5.5| 39 M6X1 2| 630 1010
WFU2004-3 19.5 4 2.381 | 33| 55 |10 12| 38 | 44 | 5.5| 47 M6X1 3| 600 1010
WFU2005-3 19 5 3 35 | 57 | 10|12 42 | 46 | 5.5| 50 M6X1 3| 1430 | 2150
WFU2010-3 19.35| 10 | 3.175| 36 | 57 | 10[12| 54 | 46 | 5.5]| 50 M6X1 | 3| 1050 | 1770
WFU2020-2 19.4 1 20 3.5 36 | 57 |10 12| 40 | 46 | 5.5| 50 M6X1 2| 910 1210
WFU2504-3 24. 3 4 2.381 | 38 | 64 | 12|15 38 | 51 | 6.5 | 52 M6X1 3| 610 1040
WFU2505-3 24 5 3 40 | 66 |12|15) 50 | 53 | 6.5 | 55 M6X1 3| 1590 2720
WFU2510-3 24.5| 10 | 3.969 | 42 | 68 | 12|15 76 | 55 | 6.5 | 57 M6X1 3| 1120 2420
WFU2525-2 24.1| 25 3.5 42 | 68 | 12| 15| 47 | 55 | 6.5 | 57 M6X1 2| 1010 | 1510
WFU3205—-4 31.6/] 5 3.5 | 48| 80 [15[20] 55 | 65 [ 6.5 66 | M8X1 |4| 2160 | 4000
WFU3210-3 31.6| 10 | 5.556 | 52 | 83 | 15|20 78 | 67 | 6.5 69 M8X1 3| 2550 | 4690
WFU3220-4 31 20 | 3.969 | 52 | 83 [ 15|20 90 | 67 | 6.5 | 69 M8X1 4| 2295 3706
WFU3232-2 31 32 | 3.969 | 52 | 83 [15| 20| 58 | 67 | 6.5 | 69 M8X1 2| 1340 2200
WFU4005-5 39.58| 5 3.5 55| 88 |15|20| 55 | 70 9 72 M8X1 5| 2910 6410
WFU4010-3 39.51| 10 | 7.144 | 64 | 100 | 18| 25| 82 | 81 9 83 M8X1 3| 3910 | 9520
WFU4020-3 38 | 20 6 64 | 100 | 18| 25| 90 | 81 | 9 | 83 M8X1 | 3| 3790 | 6280
WFU4040-2 40 40 6.35 | 68 | 105|181 25| 70 | 85 9 87 M8X1 2| 2550 | 4030

¥ AERF kid 5 & W I L e iRl Note:with sign % can produce left helix

R AR
Shenzhen Weiyuan Precision Technology Co., Ltd. Http//WWWW)/ SZ.com



WeiYuan’@,Q\;\}Lz

SRR R BALL NUT

#1-E (TYPE) : WFU i R PEAFMEFT 2251 (Stock Rollde Ball Screw Series)

(0! fiole) >

o4
oW
N
ol
|ﬂ?
0.
|
L @d
|

0 A
T |(0il Hole)

E/fj (Unit) : mm

1:5f2 Lead Da:¥k4% Ball Dia. n:ERkBE#( Number of Circuits
Ca:ZNAIE i Basic Dunamic Rating Load (Kgf)
Coa:F%isE ifif Basic Static Rating Load (Kgf)

U= RER224T, WRRFEUEHRURE Dimensions
Model No. d I Da D A |B|M|L W X H Q n| Ca Coa
WFU5005-5 49 5 3.5 68 | 107 |18 25| 52 | 85 | 11 | 92 M8X1 5| 3150 | 8030
WFU5010-4 49.31] 10 | 7.144 | 75 [ 1156|1825 | 91 92 | 11 96 M8X1 41 4340 | 9070
WFU5020-3 48.15| 20 6.35 | 77 | 11718 25| 91 94 | 11 | 98 M8X1 3| 4780 | 8750
WFU5040-2 48 40 6.5 77 | 1171825 71 94 | 11 98 M8X1 2| 3210 | 5580
WFU6310-4 62.55| 10 | 7.144 | 86 | 132 | 22| 30| 104 | 107 | 13 | 110 M8X1 4| 7400 | 17860
WFU6320-3 62.55| 20 | 7.144 | 95 | 142 | 22| 30| 96 | 116| 13 | 118 M8X1 3| 5320 | 11210
WFU8010-4 80 10 | 7.144 1 105( 15212230 111|125 13 | 125 M8X1 4| 8440 | 22710
WFU8020-4 80 20 12.7 112511701 22| 30| 160| 145| 13 | 145 M8X1 41 15226 | 35749

2k BARE K0S A HIE A TRREar Note:with sign % can produce left helix

. RNTRHREEEHATRL3
Http.//WWW.Wy-SZ.COITI Shenzhen Weiytfn Pgrecision Technology Crf. Ltd.



	07
	08

